INSTRUCTIONS:				TIT	LE OF INFORM	ATION COLLEC	TION DOCUME	NT	OME	NO.
				Bovine Sponaifo	orm Encephalopa	thy (BSE): Impor	tation of Animals	and Animal	0579	-0393
				Products		, (= = =),			DATE PR	EPARED
									May 9	, 2017
IDENTIFICATION	OF REPORTING OR RECORDKEEPING REQUIREMENT					ANNUAL	BURDEN			
IDENTII IOATION	OF REFORMING ON REGONDREEF ING REGUNERING				REPORTS				RECORDS	
SECTION OF REGS	DESCRIPTION	FORM NO's (if none, so state)	NO. OF RESPONDENTS	NO. OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES	HOURS PER RESPONSE	TOTAL HOURS	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	RECORD- KEEPING HOURS
TITLE 9 CFR (A)	(B)	(C)	(D)	(E)	(Col. D x E) (F)	(G)	(Col. F x G) (H)	(1)	(J)	(Col. I x J) (K)
95.12(c)	Blood and Blood Products Certification (Business)	none	28	10	280	0.500	140			0
95.12(c)	Blood and Blood Products Certification (Foreign Government)	none	10	25	250	0.500	125			0
93.401(c), 93.419, 93.420(b)(2), 93.427(c,d)	Official Identification (Business)	none	105	1	105	2.000	210			0
93.401(c), 93.419, 93.420(b)(2), 93.427(c,d)	Recordkeeping: Official Identification (Business)	none						105	0.50	53
93.401(c), 93.419, 93.420(b)(2), 93.427(c,d)	Official Identification (Foreign Government)	none	10	10	100	2.000	200			0
93.401(c), 93.419, 93.420(b)(2), 93.427(c,d)	Recordkeeping: Official Identification (Foreign Government))	none						10	0.50	5
92.5(a,b)	Request for Classification as Negligible Risk or Controlled Risk (Foreign Government)	none	2	1	2	0.500	1			0
92.5 (c)	Retention of Classification as Either Negligible or Controlled Risk (Foreign Government)	none	2	1	2	0.500	1			0
92.6	Recordkeeping: Enforcement of a Ruminant-to-Ruminant Feed Ban (Foreign Government)	none			0		0	2	0.500	1
	SUBTOTAL				739		677	117		59
	TOTAL OF ALL PAGES		2,225		529,084		275,718	307		103
	TOTAL COLUMNS F + I = OMB 831, 13b COLUMNS H + K = OMB 831, 13c				529,391		275,821			

INSTRUCTIONS:				TIT	LE OF INFORM	OMB NO.					
				D : 0 ''		(DOE) I			0579-0393		
				Bovine Spongifor Products	s and Animai	DATE PREPARED					
IDENTIFICATION OF REPORTING OR RECORDKEEPING REQUIREMENT				ANNUAL BURDEN							
IDENTIFICATION OF REPORTING OR RECORDRECTING REQUIREMENT					REPORTS				RECORDS		
SECTION OF REGS	DESCRIPTION	FORM NO's (if none, so state)	NO. OF RESPONDENTS							RECORD- KEEPING HOURS	
TITLE 9 CFR (A)	(B)	(C)	(D)	(E)	(Col. D x E) (F)	(G)	(Col. F x G) (H)	(1)	(J)	(Col. l x J) (K)	
93.418(d), 93.420(b), 93.427(c,d)	Declaration of Importation (Business)	VS 17-29	10	6,935	69,350	0.330	22,886			0	
94.27, 95.15	Written Notification for Transit of Articles (Business)	none	40	2,886	115,440	0.160	18,470			0	
93.418, 93.420	Export Certificate from Canada (Business)	none	100	200	20,000	0.330	6,600			0	
93.427	Bovine Imports from Mexico (Business)	none	100	12	1,200	0.330	396			0	
93.405, 93.406, 93.407, 93.420, 93.436	Bovine Export Health Certificate: Risk Classification (Foreign Government)	none	10	12	120	4.000	480			0	
94.19, 94.20, 94.21	Commodities Export Health Certificate: Risk Classification (Foreign Government)	none	40	10	400	0.500	200			0	
94.23; 94.26	Export Health Certificate: Gelatin (Foreign Government)	none	10	40	400	0.500	200			0	
	Application for United States Veterinary Permit for Importation and Transportation of Controlled Materials and Organisms and Vectors (Business)	VS 16-3	800	1	800	1.000	800			0	
94.22	Recordkeeping: Proof of Legally Harvested Meat or Dressed Carcass (Individual)	none			0		0	150	0.160	24	
95.4 (d)	Permit for the Import of Serum (Business)	none	70	1	70	1.000	70			0	
95.4	Original Certificate for Processed Animal Protein, Offal, Tankage, Fat, Glands, Certain Tallow Other Than Certain Tallow Derivatives, and Serum (Foreign Government)	none	3	6	18	1.000	18			0	
	SUBTOTAL				207,798		50,120	150		24	

INSTRUCTIONS:				TIT	LE OF INFORM	ATION COLLEC	TION DOCUME	NT	OME	NO.	
				Bovine Spongiform Encephalopathy (BSE); Importation of Animals and Animal					0579-0393		
				Products	пп Епсерпаюра	ariy (BOL), iiripoi	tation of 7 minute	and Amma	DATE PR	EPARED	
									May 9	, 2017	
IDENTIFICATION (OF REPORTING OR RECORDKEEPING REQUIREMENT					ANNUAL	BURDEN				
IDENTII IOATION	NEI OKIMO OK KESOKBKELI ING KESOKEMENT				REPORTS				RECORDS		
SECTION OF REGS	DESCRIPTION	FORM NO's (if none, so state)	NO. OF RESPONDENTS	NO. OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES	HOURS PER RESPONSE	TOTAL HOURS	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	RECORD- KEEPING HOURS	
TITLE 9 CFR (A)	(B)	(C)	(D)	(E)	(Col. D x E) (F)	(G)	(Col. F x G) (H)	(1)	(J)	(Col. I x J) (K)	
95.5	Certificate to Import Ruminant-Derived Processed Animal Protein (Foreign Government)	none	2	6	12	1.000	12			C	
95.7	Certificate to Import Collagen Derived from Bovines (Foreign Government)	none	10	4	40	1.000	40			C	
95.8, 95.9	Certificate to Import Derivatives of Tallow Derived From Bovines (Foreign Government)	none	6	5	30	1.000	30			C	
95.10	Certificate to Import Dicalcium Phosphate Derived from Bovines (Foreign Government)	none	5	4	20	1.000	20			C	
95.13, 95.14	Certificate to Import Processed Animal Protein Derived From Animals Other Than Ruminants From BSE Negligible Risk or Controlled Risk Regions (Foreign Government)	none	20	15	300	1.000	300			C	
95.40	Certificate for Inedible Processed Ovine/Caprine Origin Materials and Products from a Region Not Listed in 9 CFR 95.4(a)(4) (Foreign Government)	none	10	6,935	69,350	1.000	69,350			C	
95.4(c)(5,6)	Cooperative Service Agreement (Signature Only) (Business)	none	1	1	1	1.000	1			C	
95.4	Certification Statement for Ovine/Caprine Products from Regions Listed in 9 CFR 95.4(a)(4), and for Inedible Processed Animal Proteins Derived from Ovines/Caprines (Signature Only) (Foreign Government)	none	10	6,935	69,350	1.000	69,350			C	
93.419(d), 93.420(a)(2)	Health Certification and Seals (Foreign Government)	none	1	60,000	60,000	1.000	60,000			C	
93.419	Notification of Designation of Persons Authorized to Break Seals (Business)	none	900	6	5,400	0.250	1,350			C	
	SUBTOTAL				204,503		200,453	0		C	

INSTRUCTIONS:				TIT	LE OF INFORM	OMB NO.					
				Bovine Spongiform Encephalopathy (BSE); Importation of Animals and Animal						0579-0393	
				Products		May 9, 2017					
					Iviay 9, 2017						
IDENTIFICATION (OF REPORTING OR RECORDKEEPING REQUIREMENT				REPORTS				RECORDS		
SECTION OF REGS	DESCRIPTION	FORM NO's (if none, so state)	NO. OF RESPONDENTS	NO. OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES	HOURS PER RESPONSE	TOTAL HOURS	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	RECORD- KEEPING HOURS	
TITLE 9 CFR (A)	(B)	(C)	(D)	(E)	(Col. D x E) (F)	(G)	(Col. F x G) (H)	(1)	(J)	(Col. I x J) (K)	
93.420	Agreement with Slaughter Facilities Concerning the Use of Seals on Conveyances Transporting Animals from Canada (Business)	none	1	1	1	1.000	1			0	
93.420	Notification Regarding Conditions of Sealed Shipments (Business)	none	1	1	1	1.000	1			0	
93.405, 93.419(d), 93.420(a)(3), 93.436	Animals Imported for Immediate Slaughter (Business) (animal owners and slaughtering facilities)	VS 17-33	40	192	7,680	0.500	3,840			0	
93.419, 93.436	Certification Statement for Sheep and Goats From Canada (Signature Only) (Foreign Government)	none	1	1	1	1.000	1			0	
93.419(e)(2), 93.436	Ruminants Imported to Designated/Approved Feedlots (Business)	VS 17-130	40	2,694	107,760	0.190	20,474			0	
93.419(e)(2), 93.436	Recordkeeping: Ruminants Imported to Designated/Approved Feedlots (Business)	none						40	0.500	20	
93.419(e)(5), 93.436	Permit for Movement of Restricted Animals (Business)	VS 1-27	20	30	600	0.250	150			0	
94.15(e)	Notice of Transfer - Animal Products (Business)	none	1	1	1	1.000	1			0	
	SUBTOTAL			116,044		24,468	40		20		